

Alasa Ahmed Kasim

19/Sci101014

MAT 1024

$$1 \int x^2 \sin x \, dx$$

Soln.

$$\int u \, dv = uv - \int v \, du \quad (1)$$

$$\text{for } \int u \, dv = \int x^2 \sin(x) \, dx$$

$$u = x^2, \quad \frac{du}{dx} = 2x$$

$$du = 2x \, dx$$

$$dv = \sin(x) \, dx$$

$$\int dv = \int \sin(x) \, dx$$

$$v = -\cos(x)$$

\therefore

$$\int x^2 \sin(x) \, dx = -x^2 \cos(x) - \int -2x \cos(x) \, dx$$

$$\int x^2 \sin(x) \, dx = -x^2 \cos(x) + 2 \int x \cos(x) \, dx \quad (2)$$

$$v = x \Rightarrow \frac{dv}{dx} = 1 \Rightarrow dv = dx$$

~~dv =~~

$$dv = \cos(x) \, dx \Rightarrow \int dv = \int \cos(x) \, dx$$

$$v = \sin(x)$$

$$\int x \cos(x) \, dx = x \sin(x) - \int \sin(x) \, dx$$

Since $\int \sin(x) \, dx = -\cos(x)$, this becomes

$$\int x \cos(x) \, dx = x \sin(x) + \cos(x) \quad (3)$$

$$\therefore \int x^2 \sin(x) dx = -x^2 \cos(x) + 2 \int x \cos(x) dx$$

Sub in (3) into (2)

$$\int x^2 \sin(x) dx = -x^2 \cos(x) + 2(x \sin(x) + \cos(x))$$

$$\int x^2 \sin(x) dx = -x^2 \cos(x) + 2x \sin(x) + 2 \cos(x) + C$$

2. $\int 3t e^{2t} dt$

$$\int u dv = uv - \int v du$$

let $u = 3t$, $du/dt = 3$

$\therefore du = 3 dt$

let $dv = e^{2t} dt$

$$v = \frac{1}{2} e^{2t}$$

$$\begin{aligned} \int 3t (e^{2t}) dt &= 3t \left(\frac{1}{2}\right) e^{2t} - \int \frac{1}{2} e^{2t} 3 dt \\ &= \frac{3}{2} t e^{2t} - \frac{3}{4} e^{2t} \end{aligned}$$

3) $\int 2x^2 \times \ln(x) dx$

Commutative property

$$2x \int x^2 \ln(x) dx$$

$$2x \ln(x) \times x^2 dx$$

$$\int u dv = uv - \int v du$$

$$u = \ln(x)$$

$$dv = 2x^2 dx$$

$$v = \int dv \quad du = \frac{1}{x} dx \quad v = \frac{2}{3} x^3$$

$$2 \left(\ln x \times \frac{x^3}{3} - \int \frac{x^3}{3} \times \frac{1}{x} dx \right)$$

$$\int u dv = uv - \int v du$$

$$\int 2x^2 \ln(x) dx = 2 \left(\ln x \times \frac{x^3}{3} \right) - \int \frac{x^3}{3} \times \frac{1}{x} dx$$

$$2x^2 \ln x dx = 2 \left(\ln x \times \frac{x^3}{3} - \int \frac{x^2}{3} dx \right)$$

$$= 2 \left(\ln x \times \frac{x^3}{3} - \frac{1}{3} x \int x^2 dx \right)$$

$$\int x^n dx = \frac{x^{n+1}}{n+1}$$

$$\int x^2 dx = \frac{x^{2+1}}{2+1} = \frac{x^3}{3}$$

~~2~~

$$= 2 \left(\ln(x) \times \frac{x^3}{3} - \frac{1}{3} \times \frac{x^3}{3} \right)$$

$$= \frac{2x^3 \ln(x)}{3} - \frac{x^3}{9}$$

$$\int 2x^2 \ln(x) dx = \frac{2x^3 \ln(x)}{3} - \frac{2x^3}{9} + C$$

$$4 \int \frac{2x - 3x^2}{1-x} dx = \int \frac{2x}{1-x} - \frac{3x^2}{1-x} dx$$

Property of Integral

$$\int (f(x) + g(x)) dx = \int f(x) dx + \int g(x) dx$$

$$\int \frac{2x}{1-x} dx - \int \frac{3x^2}{1-x} dx$$

calculate indefinite integral

$$2 - 2x - 2 \ln(1-x) + \frac{-9 + 6x + 3}{2} + 3 \ln(1-x)$$

Simplify

$$\frac{-5 + 2x + 3x^2}{2} + \ln(1-x)$$

$$\therefore \int \frac{2x - 3x^2}{1-x} = \frac{-5 + 2x + 3x^2}{2} + \ln(1-x) + C$$